
Y2 – Autumn – Block 2 – Step 3 – Compare number statements Answers

Question Answer

1

Rosie

They have the same number of blue sweets, but Rosie has more pink sweets, so her total 
must be greater.

2
addition with total of 9, e.g. 2 + 7

Children are likely to have different answers.

3

9 + 3 < 9 + 4

4

a) <

b) >
c) =

5

9 – 3 > 9 – 4

6

a) >

b) >
c) =

7

a) 4 + 1 = 3 + 2

b) 14 + 2 = 13 + 2

c) 9 + 11 = 10 + 10

d) 10 + 9 = 11 + 8 = 12 + 7

8

The whole has increased by 1 and one part has stayed the same, so the other part must 

increase by 1
7


